¥9 7"7 '01n X,2° 2"2 .7"02

— 13920 95 NBwR '1neED PO
He dismantled the door frames; it is X»u» the entire surroundings

OVERVIEW

The X773 cites a Xn»72 (regarding N NXMY) that if the doorway was closed up, then
there is no nXMY around the house (only in front of where the doorway was);
however if he was 1"2°¥d y79 then there is 78”0 surrounding the (entire) house.

- 2‘12‘,79 PN 74 192520 Y5 DIVIPN YYD
»"w= explained that 1°2%2% %> Xnvn means that an area of four n»K around the
entire house is ¥nun just like a grave.

mooIn disagrees:
— NN D701 113 PYNY 129297 NN PPN)

And the @' does not agree; since the partitions of the house are distinct -
— 312530 NN T RPOIY 912305 19 1795 1YY 55NN 1520 YY 1YY RNPY YNHMNY NI

And there is no concern that he will climb over the house and be » 8% over it,
there is no reason to rule that four n2KX around the house should be Xm»wn —

Moo proves that the 77713 of 12pa MR '7 is only where it is MX*MA ™0 XY
— >3 NN 1PN *92DN 8N 533 (v, 97 no1Y NPNYA MYN P93 NIINTS

As this is evident in ;7anb2 mwn 29 regarding (the mawn which states that) a =3n

92p:7; one who stands in this 72p77 %77 is 997W; the X3 there concludes that -
— "9ran NNRYYA SHaN MYINN MYDNT 3PN I8N 99 3N

! See xow 11"7 2,%° "9, that 1"1°¢5 DX 779 means that he dismantled the entire door frame and rebuilt it as part of the
wall (and it is apparent that he does not intend to use it for a doorway again).

? The o"am were JMa that a N 2P is Xavn (not only if you touch it or are 27Xn over it, but even) if you stand
within nwR '7 of the 72p, so that the M1173v *22I% will distance themselves from the 72p and not be 2’%n over the 72p
accidentally. The same rule applies (according to *"w9) to this n°2 which 175 nX y75.

3 Regarding a grave, where its walls are not (so) distinct, there is concern that if he will be close to the 72p (within '7
nmR) he may accidentally be 7°n%» on the 12p. However by a house where the walls are distinct, there is no concern
that if he is close to the house he may climb up on the roof and be 2>78% on the house. Therefore there is no cause to
be M3 a XMWY of MR "7 around the house.

* A 72p7 3n is the area in front of the cave where the o°n» are buried. The miwn teaches us that even though (when
he is standing in the 72p7 7¥n) he is within the nnR "7 of a N who is buried within the cave, nevertheless he is not
Xnv (because it is MX°rn °0n; there is a distinct separation between the 7% and the cave).

5 This is a 71w in 7"2 1"vD N2AR (cited [also] later in R,Xp 2"2)

% The n"an Mt amends this to read Xnbya nm K.

721 priw> ' there proved from this 73wn that a nn is AX@IY MK '7 09; for if there is no XMWY of MMX '7 around the
nn, what is the 71wn teaching us that 7277 9%7 is 7v; why not; he is not in contact with the nn?!
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When are these words so (that he is M77v) by a 92pn 931, for there are distinct
nmxorn, however a [dead body] generally (where it is not Mx°nn "»»0n), the N~

‘grabs’ the nmnx '7 surrounding him that this area is ¥nv. It is evident from that X3 that in a
case of Mx°nn >n»on there is no rule of 1°2°20 NMKR '7; how can *"w1 maintain that there is a X2W
of R "7 around the house?!

mooin offers a different interpretation:
— 18 D91 $°2N 12 PV NN P YIY 1D YIDY Y AN 7OY

Therefore the v"1 prefers to explain that the Xn»72 is discussing a case where

for instance there are many projections extending from the house on all sides -
— 1912989 Y99 8YWAY “1nN 99Y Shav nms Jna v

And each of these 11°1 has a width of a now, and so if he was not 2522 y9p -
— nNa 797 NIRYY 1Y NN HY NNDY PHT ARYN HNN RNVN 1N NNDY 9 YY 9N

Even though he closed up the doorway, nevertheless the airspace under the
remaining 2% is not X»u» because presumably the n» will leave the house

through the closed up doorway -
— 1925320 Y5 XNLVN YYD NND NI PN DM INYI INIDY TN 113989 99 ON YaN

However if he was »2°%p 792 and rebuilt the doorway so that it appears like the

rest of the wall, and there is no doorway at all, then it is 192722 %> X»wv» under

each 171 -
— Hyan 19 N DTINMN NN 797 NIV PI90Y NN 1N 1% Doy

For regarding each 17 there is the possibility that the n» will exit the house
under that 1.

mooIn attempts to justify >"wAo:
— NNYNN 21355010 NI ) %37 DIVNPN VIO AWIH UN

And we can justify >'"'w9p (that there is 1°277 NM2°20 MAR '7 IRMA1) for even a house
iS not RNXoIRA 9990M; meaning -
— 120 YY NYY NNPY UNINIY XIOYT 2) Y GNT

That even though there is no concern that he will climb up on the house (for
there are distinct walls) -

¥ The "2 M amends this to read y75 X2w) TNX 933 moY.

° To be considered an KX an object needs to be (at least) a 1ov (square).

10 Whenever there is a door from which we assume the nn will exit, [only] the ™1 above that door is 22 RXnwn
immediately, even before the n» is taken out.

' There is no doorway now in the house; however the n» will eventually be taken out to be buried. The wall will be
breached somewhere; therefore each 11 is 9R2 Xnb»n now, because the breach may be under this 1°1. The aR™W is
restricted to under the 211 (as 2mIX NXMI), but not to NAX "7 around the house.

2
TosfosInEnglish.com



¥9 7"7 '01n X,2° 2"2 .7"02

— Zorhnna ¥30 NOYW UMY XN BIPN Y10

Nevertheless there is concern that perhaps he will touch the walls of the house -
— 487 1 959N ¥ NPV Paap

For a =2p is X»wun even if it is touched from the side (not only from above where one
is 2nRn) -

— “o1n0 9ap Nt 9apa ¥nmrx 799 Y93 $190a N1
As is evident in 5952 in 217K 792 nwap where the 770 writes 92p2 [X], this is

referring to a closed 93p. The >0 continues -
—Ymina NYN 1N IN

Or perhaps it is not so but rather 71232 X refers to an open 12p -
— MmN XYW PT18A Y9 RPVM 1R ANV SaPN XYY YAR A1) 4N P NINX

You should say a 1" that it cannot be referring to a mn» 72p, for what if by an
bnx which becomes X»v, nevertheless its sides are not X»u» when the 97X is

mne -
— AN NIV PT18N 5910 KPS RIY 11139 ARV Y290 1998 93PN

So a =ap which is not 782 ®apn then certainly its sides are not X»w» if it is
mne -

YIND 1292 YA R NNPVN DIND NINYIT yNRYN
It seems from this 750 that when the 72p is 2109 it is X»w» even if someone
touches its side.

SUMMARY

According to °"w1 if 1279 75 the MR '7 around the house are Xnwvn like a 73p
(because of the concern that one may touch the house). According to 'on if 79
1"°%0 the 11 around the house are (MK NRMIY) RAvA.

125"y however (seemingly) cannot accept this explanation for w1 clearly states 2%, See however X NX 7"210.
" This is referring to a 01nd 12p (see footnote # 16).

'* The n"a271 M amends this to read 1272 I 717X,

' The 109 in To,0> (NPIT) 72722 states; D1° NYAW KAL® 122 IR "1 Y3 WK 921; teaching us that just touching a 12p is
.

' A o100 72p is like our 0*12p where the n» is buried and completely covered.

7" A mno 72p is where they would dig a channel in the wall of a cave and place the body in the hollow and leave it
open (as in the days of the 7m%n).

18 An Ymx which is made of cloth or flax, etc. (not wood or metal) is 78 22p» (as an AXMYI AX) and is QTR XAV
0°921 even after the n» has been removed.

1% See footnote # 10. When there is an opening in the %X (a door for instance) the outside of the MK is not Xnun;
only 1N 712,

A grave which is built from stones, etc. is not I8 72pn (because it is considered ¥pp) and is not Xnwvn if the nn
is removed from the 723p; it is only X»vn on account of the N» buried in the 72p.
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THINKING IT OVER

What is the difference (according to >"w1) between the case of 12°¥d nNX 75 (where
it is Xnvn for 1°2°20 N1 "7 and the case of 1277 7¥n where he is M7V (even within '7
X to the 12p?*!

21 See X"w1mn in 2,7p A7 N2W 'on on ¥ 71"7 'on and n'"m here.

4
TosfosInEnglish.com



